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o 500,000
401 A& HIX R0 500,000 325,000 175,000
01 AlZH| 500,000 322,743 177,257
O M=Kl =&Y 150,000
O s=2 |2 300,000
O =28 *clAd |FXEL 50,000
403 X SHHMSAH=01H 1,360,000 700,000 660,000
= 1,360,000
02 SO 2SOt stA=2E 2 €A H] 1,360,000 700,000 660,000
O &78 =AY 1,360,000
[ 1,360,000
SEE AZNLAE 365,000 371,000 26,000
401 Al HIZ S OHbI 150,000 149,000 1,000
01 A28l 150,000 149,000 1,000
O Kot geEXAb L At 2t2 100,000
O =88 g2y =2+ 50,000
402 QI+ X201 & 215,000 222,000 A7,000
01 QI 2 AL E (XM TH ) 215,000 222,000 A7,000
O S=€238 e 3,500,000& 505 175,000
O A~ga2d e 1,000,000& *403 40,000
S SHIAY 480,419 479,700 719
201 et 3| 17,900 16,700 1,200
01 AtR2te|Hl 1,200 1,200 0
O It2sS 2= 22X 1=
300,000& x4 H 1,200
02 S5=2g4l 16,700 15,500 1,200
O xr&dl (20 —AXRL) 16,500
O JI2S EFN0 SEes 1,200
206 M=l 170,000 170,000
01 M=4l 170,000 170,000
O Jtzs 2= 78 170,000
401 AIEHIZ R 0HYI 292,519 293,000 A481
01 Al&H| 290,735 290,661 74
O 28 &X 198,216
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SA: SANZD
RE: =0 |HHA& I
chelr SSIBAIEXIR EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O JI=2S wHM & 012 HOtHIS 44,519
O 2Xg Jizs B+ 40,000
OJlizs 5& 2F 8,000
03 Al 20HHI 1,784 2,339 Ab55
O IHzs &x 198,216,000 *0.90/100 1,784
E|AIE HES=AIS (HEALY) 1,618,240 2,089,001 A470,761
= 1,618,240
401 Al HIZ R 0HbI 1,618,240 2,089,001 A470,761
== 1,618,240
01 Al&H| 1,612,435 2,081,507 A469,072
O Al2 #=clAl2 HEsAr 1,612,435
= 1,612,435
03 Al CHYI 5,805 7,494 1,689
O A2 $2IA18 JHEAle!
1,612,435,000& *0.36/100 5,805
= 5,805
SHESA 221729 W KA+ 1,000,000 1,000,000
403 AXIEHMSXH=01& 1,000,000 1,000,000
02 SISt 2 S A AIEHI 1,000,000 1,000,000
O SOHESA el RAE= 1,000,000
Mo ?1 & X2 & 1,732,000 2,700,000 /968,000
[ 866,000
= 346,400
o 519,600
e Rak=:PNEESTs) 1,732,000 2,700,000 968,000
[ 866,000
= 346,400
o 519,600
THOHRIE XIS FHHI(THHAE M=Kl EHl) 1,732,000 2,700,000 968,000
= 866,000
& 346,400
= 519,600
401 Al HIZL 201 492,000 400,000 92,000
= 246,000
< 98,400
[Ea 147,600
01 Al&HI 492,000 400,000 92,000
O 72 MHoll?IE M=Kl SHIAIS 100,000
s 50,000
s 20,000
s 30,000
O XeIH Mol e M=Kl SHIAIS 392,000
= 196,000
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2A:

X XH -
o=

SAD
Kol ?1 & Xl & H|

=ny BN [ Ry k= PARRP<tal (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 78,400
s 117,600
403 MR HHMSAH=01H 1,240,000 2,300,000 A1,060,000
= 620,000
< 248,000
= 372,000
02 SIS0t =S A A 1,240,000 2,300,000 1,060,000
O SEH Mol A=K ==XI ZBIAL 160,000
= 80,000
== 32,000
[Ea 48,000
O =8=H MoliAg M=Kl SHIAH 220,000
= 110,000
== 44,000
o 66,000
O ZSH Moll?ld M=Kl SHIAI 200,000
= 100,000
== 40,000
o 60,000
O Q&M Moll?d M=Kl SHIAI 460,000
s 230,000
== 92,000
o 138,000
O UW=H MHoll?le X=Xl SHIAIS 200,000
= 100,000
s 40,000
s 60,000
ot THol Ol 2 AL 78,996,061 24,401,674 54,504,387
= 59,405,225
= 210,000
=S 6,982,885
s 12,397,951
SESUNEE L] 3,422,188 3,927,602 A505,414
= 793,000
= 210,000
< 455,000
= 1,964,188
[elrSESONEELE 898,227 859,683 38,544
101 @124H| 89,295 87,404 1,891
M ORIMZZ2NSE S 89,295 87,404 1,891
O detd SYAIE 2523 IAH((7-88,
SRS 20,616
2= 80,2402 x50 x4 16,048
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SA A Z
S ot ol Ol At
(=8 FIES E N Rl EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
e
80,240 x2 2 x4 U *4H 2,568
-2E8= 250,000 x2 x4 2,000
O & dEfotd S 7L M=, H=HY 68,679
201 2= 45,992 49,694 A3,702
01 At22t2ltl 22,242 22,144 ]
O 2FEIt +==2(ct&, HESX)
50,0002 x30 & X[ 204 7| 2t 3,000
O 8id SYHe 2D EXB(HL S)
2,500,000 *20H 2= 5,000
O SII5e 222(5H8, HIESX)
34,0003 402 X| 1,360
O Z++2(51d, 2L S)
400,000 *30Z X 12,000
O #248 sEgHss NCHs 22
9,000+ 1431472 80
® 2=2H| 23,750 27,550 3,800
O 3IHH82 S DNM L& 2HR3
4302 +5,0005 2,180
O Xigste AIEE dDIe=2 15,600
O X & dl (MAEARX) 6,000
202 048l 2,940 2,940
01 2L AL 2,940 2,940
O otd2cl8 &0
70,0002 x5 %123 %70/100 2,940
401 Al HIZL S 0HYI 760,000 719,645 40,355
01 Al&HI 757,855 714,000 43,855
O AEA 2 A ASHEAHIZSEHE
(HE) & NEEH DAESA 150,000
O dEotd A8 & XYoI™ AIES
SRl (MENSHE 7oA, XIEotE4400 4 ) 297,855
O 25D 22 o3 AxlAY
600,000 *150m 90,000
O F2UFO0f & 160,000
-o2 2EY0s dd S0 JHIAY 35,000
-HIE dS0tE S2(MY) ZHIA 30,000
-HI8 YFHE0IS sZ2(MY) ZESA 30,000
-2F SAA0E Mg ZZA 30,000
-S4 et (X)) M
HIAH 35,000
O XS A Y] 60,000
-E8 FH20E HMYEZ 2 20,000
-HIS E=0t= oMY L& SA 20,000
-So LHAtE 45 SA 20,000
03 A2 2 0HYI 2,145 5,645 A3,500
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SA A Z
M olETHoH OlZAHS
(=8 FIES E N Rl EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
O dthotd A8 & XYotE AES
SRIBRI (MENGHR 7o, XIEHotEMIlL)
297,855,000 *0.72/100 2,145
StERX2el(Ex) 605,000 1,213,000 A608,000
= 455,000
i 150,000
401 AIZHIX 20HH 605,000 1,213,000 608,000
== 455,000
[ia 150,000
01 A&l 601,556 1,213,000 A611,444
O XgstdE Al2E2 sX2el(se Jl,
=4, NE=s A S) 546,556
S 400,000
= 146,556
O & Ag2sg FUFooat 55,000
—a2 H20E 3 A5 EXSA 25,000
S 25,000
a2 Ot=U0E WalE A=5SAE 25,000
= 25,000
-HIS Wa0t= ot A=3At 5,000
= 5,000
03 Al 20HHI 3,444 0 3,444
O Xgstd Alde sRizel(set Fl,
E4, X2 WA 8)
546,556,000& *0.63/100 3,444
2I16td RX2el (EX) 793,000 793,000 0
= 793,000
101 e124d| 14,500 14,500 0
= 14,500
M4 JIRNZ2Z2XSE+ 14,500 14,500 0
O 2IIBIEL SHae o
77,9563 x201 %932 14,500
= 14,500
201 er=23y| 46,500 46,500 0
= 46,500
01 At2tltl 16,500 15,500 0
O ot&d3Y W ZE &X
550,000&*10H 5,500
= 5,500
O ZHIERH U=, 8257)
909,090 *1TH 10,000
= 10,000
2 35244l 31,000 31,000 0
O ADIEEE=s2eAAHE &) & SRS
2,583,3338~12& 31,000
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SAT HAD 2
T SIETG Ol A
(=8 FIES E N Rl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 31,000
401 AIEHIZ SR THYI 732,000 732,000 0
= 732,000
01 Al&H| 732,000 732,000 0
O =Jtotd JI&M &l
11,300, 0002 * 10IH £ 113,000
= 113,000
O AE=SgdEordEd & 458t
10,000, 0002 *319H £ 310,000
= 310,000
O N2 |2+ & o=
10,7502 %4, 000m 43,000
= 43,000
O NEERX2+
1,000,000 * 107 2~ 10,000
2 0,000
O NZ42 HH 2 =&
25,600,000 * 1090 £ 256,000
= 256,000
A0t Sl (HMEALY) 670,969 641,919 29,050
401 Al HIZL 201 670,969 626,421 44,548
01 Al&H| 667,500 623,000 44,500
O A |2l (SIHA ) 100,000
O =2 A 550,500
-2 2ESYlls S¥d 45 EXISA 77,500
-E8 IHS0E A% ZXA 50,000
&2 AFS0HS LHAFAGHE A= AXIAY 38,000
a2 AENS SMHASHE 45 AXAY 54,000
&2 QRS IS4G A= FHIAE 30,000
-70l FL0E MYEZ ZESA 17,000
-70| S20tS ARAAGHE HA=IA} 40,000
-HIS &AIDLS ot A= JIx E3A 10,000
-shot FS0HE ol A= XA 30,000
-So gA0tE 2 A= Ul A 42,000
-S4 SH0S Hote A= 4XIAY 42,000
-S4 BEIOS ol N 23 A 40,000
-3& AF0ts Aotd AFEFHI| SA 38,000
-d& 2M0tS Aotd A=5ZA 42,000
O Hls UWaits Wsd Y £ A
(XIEOrALIHI) 17,000
03 Al 20HHI 3,469 3,421 48
O FUEOM A Al THYI
550,500,000 *0.63/100 3,469
A0LE HF22 AL 454,992 420,000 34,992
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SAT HAD 2
T SIETG Ol A
(=8 FIES E N Rl EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
= 210,000
s 244,992
201 er23| 34,992 34,992
2 s5=4g4l 34,992 34,992
O ADIE H=ZCIANAE S2R23
243,000 #1200 A+ 1200 2 34,992
401 AlEHIZ S OHbI 420,000 420,000 0
[ 210,000
s 210,000
01 AlZ8| 420,000 420,000 0
O ADIE HERRIAAY 7=
70,000,000 *6IH 2 420,000
= 210,000
s 210,000
Aot ZHIAHY 2,167,000 8,254,900 26,087,900
= 2,167,000
Kot HUI(HF=H)(HEAY) 2,167,000 2,946,080 AT79,080
< 2,167,000
401 AIZHIX 20 2,167,000 2,946,080 AT779,080
=S 2,167,000
01 Al&H| 1,852,000 2,792,780 N940,780
O &d=d Kot gAY = &g 1,852,000
= 1,852,000
02 Zeltl 315,000 163,300 161,700
O =& Kol EHIAY = d& 315,000
= 315,000
20td ZHIAIE 5,000,000 2,370,000 2,630,000
LS EHISEHE (BHE)+E Y 2,500,000 0 2,500,000
401 AIEHIZ R HYI 2,500,000 0 2,500,000
01 Al&HI 2,500,000 0 2,500,000
O ASHEEHISENE (H)E 24 2,500,000
Ot AGHE FHIAI (& EALRY) 500,000 200,000 300,000
401 AIE2HIXL S THYI 500,000 200,000 300,000
01 Al&H| 496,425 198,570 297,855
O Or2AcH FHIAI (HEALY) 496,425
03 AIESTHYI 3,575 1,430 2,145
O DHEAGHE ZHIAMYG (HEALY)
496,425,000 +0.72/100 3,575
OHEAGHE FHIAI (HEAL) 1,000,000 200,000 800,000
401 Al HIZL S 0HYI 1,000,000 200,000 800,000
01 Al&HI 993,739 198,570 795,169
O oS AGHE FHIAIG (HEAIY) 993,739
03 A2 THYI 6,261 1,430 4,831
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SN SORL
M ot ol Ol At
s Ao FHIAY (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O QtAAGHE HHIAI (HEALY)
993,739,000& +0.63/100 6,261
ShelAGHE FHIAIE (R EALY) 1,000,000 200,000 800,000
401 AIEHIX R0 1,000,000 200,000 800,000
01 A28l 993,739 198,570 795,169
O otelAGHe ZHIAMYG (HEALY) 993,739
03 Al 20HHI 6.261 1,430 4,831
O otelAsHe ZHIAIYG (HEALY)
993,739,000&+0.63/100 6.261
SHEAIE AL 133,177 108,752 24,425
SHEAIE AL 133,177 108,752 24,425
201 Ler23| 8,800 6.400 2,400
01 At2teltl 8,800 6,400 2,400
O 4dt@BRIARE 42
70,0002 x4 *102] 2,800
O otd DI=EX 28EI == 6,000
202 04| 2,940 2,352 588
01 =UHoi bl 2,940 2,352 568
O seAlEE ST 08|
70,0002 x5 x 128 %70/100 2,940
401 AIEHIZ SO 121,437 100,000 21,437
01 Al&H| 121,437 100,000 21,437
O ofd DEsAed
42,4902 2,858 m" 121,437
ot o= AL 68,273,696 9,740,420 58,533,276
= 58,612,225
= 4,360,885
[Ea 5,300,586
6.27~7.27 SLRIH MHHSTAI (HEHA) 2,045,581 1,000 2,044,581
= 1,158,892
s 886,689
401 Al HIZ S 0HHI 2,045,581 1,000 2,044,581
= 1,158,892
[Ea 886,689
01 Al&H| 2,035,581 1,000 2,034,581
O A&td THoll =R AHY 2,035,581
= 1,158,892
= 876,689
03 AIZ2THYI 10,000 0 10,000
O AstE Mol = AL 10,000
'24.7.8.~'24.7.10. SRIISH THHSFALS (RILSHE) 17,692,448 0 17,692,448
= 17,635,448
o 57,000
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SA A Z
T SIETGH OIA
el ol o= AMY (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
401 Al HIZL 2018 17,692,448 17,692,448
= 17,635,448
= 57,000
01 A=l 17,652,448 17,652,448
O D&t STl Mol=+ At 4,231,781
= 4,231,781
O =S8 S0l Mol=s+ A 2,988,545
= 2,988,545
O tald S2Iloll Hol=S A 2,363,121
= 2,363,121
O 4=3d S0l HolS7AHY 1,982,922
= 1,982,922
O dd S20loll Hol=+ A 1,966,586
= 1,966,586
O FEH(EH) =0l M=FAS 1,021,455
= 1,021,455
O FEH(2F) =0l Mo=7AS 815,320
= 815,320
O «==d S2Iloll MHoll=S A 759,722
= 759,722
O d&d S2Ilol Hol=+AHY 610,838
= 610,838
O UXIE S2Ilo o=+ A 515,769
= 458,769
o 57,000
O ¢tEH S0l HolS7AH 396,389
= 396,389
03 A& S CHYI 40,000 40,000
O 24.7.8.~7.10. SIH MH=AH (XI5
&) 17,391,304, 347&+0.23/100 40,000
= 40,000
'24.7.8.~'24.7.10. SRUIH THHEFPAIY (A6HE )= 7,337,667 7,337,667
HEALSS
= 3,581,885
= 1,877,885
i 1,877,897
401 AlZHIZ SO 7,337,667 7,337,667
= 3,581,885
= 1,877,885
Ea 1,877,897
01 AlZHI 7,319,368 7,319,368
O gsaotd S20lol MHH=STALE 1,083,080
= 541,540
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2A:
X XH -
o e

=aak

FHB - GRI(EH) - KIRAY - B

MEE
Ofl &k2h

oy
i
%

i AHoH= AL

ol

M

H AHoH= AL

ol

r

[m]
I3
B>
ol
ra

H XHoH= AL

U

H XHoH= AL

SIOISH o= ALS

Sl o= AL

ZESAotd SIIGH HoH=SAIS

H XHoH= AL

P
on
r

H XHoH= AL

Ol

00
B>
ol
i

H XHoH=+ AH

>
o
rzl_'

H XHoH=+ Ab

Ol

A H

HH W HH W HH W HH W HH W H H W HoH W Mo W HoH W

HoH W

270,770
270,770
591,592
295,7%6
147,898
147,898
432,677
216,339
108, 169
108,169
254,677
40,390
107,143
107,144
337,722
168,861
84,430
84,431
325,256
162,628
81,314
81,314
242,726
121,363
60,681
60,682
209,385
104,692
52,346
52,347
201,571
100,786
50,392
50,393
183,793
91,897
45,948
45,948
178,036
89,018
44,509
44,509
165,877
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2A:
T ZH -
o e

Sk

- FE - HRA(BA) - HRAY -

MEE
Ofl &k2h

S40td SR MolSTPAH

O +ctaokd

off THol =AY

S0l oS TALY

H THoH= L AH

H THoH=AH

i Ao =AM

ol

e
ol

ra

i THoH =+ AL

H

i THoH =+ AL

i Mol =+ At

i Ao = AL

on

MW Mo W MW Mo W MW MW MW Mo W Mo W HoH W

MW

82,938
41,469
41,470
164,168
82,084
41,042
41,042
161,854
80,927
40,463
40,464
156,047
78,023
39,012
39,012
154,942
77,471
38,735
38,736
152,524
76,262
38,131
38, 131
150, 186
75,093
37,546
37,547
111,635
64,968
32,484
14,183
129,142
64,571
32,286
32,285
123,153
61,576
30,788
30,789
122,221
61,110
30,556
30,555
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SA A Z
M olETHoH OlZAHS
&2l ot Mol=+ A
RN - I BRA(E) - HRA - BES of v A
O Zcixotd S<Iloi Mol =S-AH 114,457
= 57,229
S 28,614
T 28,614
O g=A0td S2Ilol MHol=-AY 114,031
= 57,016
S 28,507
T 28,508
O 2240td S 2Ulol MHol=-AM 105,814
= 52,907
S 26,453
ia 26,454
O 2s20td Sl Mol =S-AM 105,524
= 52,762
S 26,381
[ia 26,381
O A0t S2Iloi Hol=S A 98,862
= 49,431
S 24,715
a 24,716
O #=XIxotd S<Iloi Moi=S-AM 92,018
= 46,009
S 23,004
a 23,005
O Yot SIloi Mol =S AM 86,372
= 43,186
S 21,593
= 21,593
O tf=2Lotd S=Iloh HHSFALS 81,317
= 40,659
S 20,329
ia 20,329
O =2Aotd SRIlol Hol= A 80,099
= 40,049
S 20,025
i 20,025
O AHeiiotd SRIloH Hol= A 76,904
= 38,452
= 19,226
i 19,226
O gitiAold S<RIloi Hol= A 76,183
= 38,092
= 19,045
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SA A Z
S ot ol Ol At
Chel: ot MoiE-AMY (e A
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 19,046
O =Sti2otd S<Ulol Mol =S AE 72,435
= 36,218
= 18,108
Ea 18,109
O Otxotd S 2o ol =+ A 70,447
= 35,223
= 17,612
= 17,612
O A0t S 2o Mol =S+ A 69,404
= 34,702
= 17,351
Ea 17,351
O WELAGHE S<2Ulol Moll=S A 67,941
= 33,970
= 16,986
[Ea 16,985
O S&aotd 200 Mol =AM 57,931
= 28,965
= 14,483
o 14,483
O d=20td S2Ulol Moll=S A 56,456
= 28,228
= 14,114
o 14,114
O ®/ALGHE Sl Mol =S A 56,273
= 28,136
= 14,068
= 14,069
O &G S<UloH o=+ ALY 53,3%6
= 26,698
= 13,349
= 13,349
O 2340t S Ul Moll=SAE 50,728
= 25,364
= 12,682
= 12,682
O otalLfaold S =IIoh HoHS ALY 50,333
= 25,167
== 12,583
= 12,583
O Aot SRIloi Mol =AM 50,179
= 25,089
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2A:
PSR
ctel:

Jo

=l
It AL
o =T AH

r F?.i' FZ

H
N
X

[e][e]]]

t &
t &

5
i

iI

N B - HA(SAH) - ARANY -

Ol
Jo

Ofl &F2H

MEE
Ofl &k2h

03 A2 THYI
O '24.7.8.~7.10. S Ul MHoH=STAIS

7,319,368,000%0.25/100

A H

12,545
12,545
18,299

18,299

18,299

'24.7.8.~'24.7.10. ZEA THHS AL (OHA)

Mo W

11,498,000
8,616,000
1,442,000
1,440,000

11,498,000

401 AIZHIYL 20

Mo W

11,498,000
8,616,000
1,442,000
1,440,000

11,498,000

01 Al&HI
O ZEd THHETAY (i)

02 Zeltl
O ZEd THHETAY (i)

03 A2 THYI
O ZEd THHETAY (i)

HoH W

HoH W

10,654,000
10,654,000
8,004,000
1,339,000
1,311,000
818,000
818,000
612,000
103,000
103,000
26,000
26,000

10,654,000

818,000

26,000

'24.7.8.~'24.7.10. D=SSHE MAHSTFAILOHA)

Mo W

8,300,000
6,220,000
1,041,000
1,039,000

8,300,000

401 AIZHIZ 20

Mo

8,300,000
6,220,000
1,041,000
1,039,000

8,300,000

01 Al&H|
O WSS Mol=7AI(O1e)

02 Zteltl

HH W

7,691,000
7,691,000
5,778,000
967,000
946,000
590,000
590,000
442,000
74,000
74,000

7,691,000

590,000




SA A Z
S ot ol Ol At
Sl BHE WA= PAN (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A& S CHYI 19,000 0 19,000
O U=SSE MaH=S7ALONA) 19,000
'24.7.8.~'24.7.10. 45 THHSFAILOHA) 21,400,000 0 21,400,000
= 21,400,000
401 AlEHIZL R0 21,400,000 0 21,400,000
= 21,400,000
01 AlZ28| 18,150,780 0 18,150,780
O 453 oS AIE (1) 18,150,780
= 18,150,780
02 Zaltl 3,200,000 0 3,200,000
O &=d =S A (1) 3,200,000
= 3,200,000
03 A2 2 0HYI 49,220 0 49,220
O &=3 =7 (OHe) 49,220
= 49,220
HY 2L ZHI(HAHE D) 48,892 28,458 20,434
JlI=23sl 48,892 28,458 20,434
JI=23Hl 48,892 28,458 20,434
201 fer= 3| 27,460 13,518 13,942
01 At 2|l 26,460 12,518 13,942
O ArR2teld] 29,400, 000& *90/100 26,460
2 35244l 1,000 1,000 0
O =323l 1,000
202 04l 16,632 11,340 5,292
01 =LHAHI 16,632 11,340 5,292
O =UoH 90,0002 x22H x12&+70/100 16,632
203 2=l 4,800 3,600 1,200
MU A2 LRSI 4,800 3,600 1,200
O gADi2UEE HRF4|
400,000 123 4,800
WeES (SO g ) 52,500 0 52,500
FSUNE 52,500 0 52,500
INEE DY P 52,500 0 52,500
311 XS0l Aratat 52,500 0 52,500
01 Al 2 - RXISIHE IS SOl AHaket 52,500 0 52,500
O NLaHEHHl (OratE THOHOIZAL) 31,500
O NLoIEEHl (M3 THOHOIZAL) 21,000
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